ol

53.

T - B
54.rﬂﬁzﬁﬁmﬁrﬁﬁﬁaw_mﬁmﬁ
adf B ?

RIERASECESIES IR G I T
vaTfed @R & e areh arfdvfr @

(a) CaCO;+H,0+CO, —
Ca(HCO3)2

(b) Ca(OH), + CO, - CaCO, + H,0
(C) CaO - C02 o CaCO3

(d) CaClz -5 Hzo = C02 -

e ¥ S v @l

TEIR?

(a) ﬁﬁaaaqﬂaaaaw%@q?
=E A femm sw ¥ fifee
U i T 2

(b) =R % Wha = s
CaSO,2H,0 &

(c) TRET |IeT 1 SN wef 6t w1t
FORAT F R FY F Ty e
ST 2

(@ TF & F aged awwRRE
T & HIC Whe 3R N aredt
Coil

AT & IR & foru frefifeg i

faﬁam?ﬁaﬁaﬁxmwﬁn%m

ST 8 7

(2) dTerEr (analgesic)
(b) ‘i.l%R\l‘fﬁ (antiseptic)
(c) wfaitfae (antibiotic)

(d) Wfd-35 (antacid)

TODC-T-GAT - C
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(a) 2Ca0-SiO,
(b) 3Ca0-SiO,
(c) 4CaO-SiO,

(d) 3Ca0-ALO,

55. Prafufeg & @ a-a1 w wEEtE

aRec &t § ?

(2) R HT ST

(b) ©Tg H ST

(c) 5% &1 fygemr

(d) 3" At 9R & a1 lifrar

56. Frfefen # & @-a1 7o wd =g

g ?

(2) FaTd R sttt @ sioR-wgiogor
T Wi aiady

©) ¥ifrs uRady ¥ i
. AR @
wmﬁazmaaam%

(d)Fﬁ%ﬁWWQ%Wﬁ@—
gRada @
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51. The reaction that occurs on passing

52.

53.

PART -

y
carbon dioxide gas through lime water
1S

(@) CaCO; + H,0 + CO, -»
Ca(HCO,),

(b) Ca(OI‘{)Z + C02 o CaCO:; A Hzo
(c) CaO+CO, - CaCO,

(d) CaC12 + Hp_o + C02 —
CaCO, + 2HCI

Which one of the following statements
1s NOT correct ?

(a) Water of crystallization is the
fixed number of water molecules
present in one formula unit of a
salt

(b) The molecular formula of Plaster
of Paris is CaSO,42H,0

(c) Washing soda is used for removing
the permanent hardness of water

(d) The atmosphere of Venus is made
up of thick white and yellow
clouds of sulphuric acid

Which one of the following typfa of
medicines is used for treating indiges-
tion ?

(a) Analgesic
(b) Antiseptic
(c) Antibiotic
(d) Antacid

13

54. Which one of the following is NOT

present in cement ?
(a) 2Ca0O-Si0O,
(b) 3Ca0O-SiO,
(c) 4Ca0O-Si0,

(d) 3Ca0-ALO;

ich one of the following is NOT a
chemical change ?

(a) Buming of coal
(b) Rusting of metal

mﬁng of ice

(d) Reaction of acid with base

7 Which one of the following statements

\

is NOT correct ?

(a) The interconversion of states of
matter is a physical change

(b) During burning of a candle, both
chemical and physical changes
take place

o
~() During a physical change, the

chemical composition of mole-

cules changes

(d) Rusting of iron is a chemical
change

C — TODC-T-GAT
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57. frafafeg & @ S-ar Rwaiht fyso

hn

TE R
(a) T STZUTHTLE T TeHT

(b) St (VERT) R AwE  (wEw)
foreeat &t fisor

(c) = s

(d) S § g9

LG I I g Sif ek

TE % 99 Ry e w o w
SR g+ :

oI = I
(=) (TRETIHAT)
A. ETERIH i 2
B. ATsCIoH ot
C. fasia 3. 8
D. He%T 4. 4

- T

(a 4 1 2 3
. 21 .3
ol G e S (R

e UL S, RO

TODC-T-GAT - C
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59.

60.

61.

ﬂr{;phqqﬁ gﬁxf%’ﬂ (RCdOX
Afires T HITATIAD
¥ wq 7 fEmefie ® 7

frerferfaa
tvurlu»n)‘?,'}ld 21

(I{v(hICIH}(;uzvln)

N,H, + 2H,0, - N, + 4H;0

(a) Hy,0O,

(b) NyHy4

() N

) H,0

frafafaa & & o8 59 =1 ygaw 9=

[T €T © 2
(a) QI 5
(b) T S

(c) 9 I
(d) asi 5@
ST Y STt FIRAT & fore Py

ﬁ q RT-|T TG0 JeRgRN § 2
(a) FfRrEw & ave

(b) M & FeRee

(c) Wfw & g

(d) R & aehe

M —
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. Which one of the following is NOT a

heterogeneous mixture ?

(a)

Sulphur in carbon disulphide

)

Mixture of sugar and salt crystals
(©)

Sandy water

Sulphur in water

58. Match List I with List II and select the

answer using the code given below the
Lists :

List I List I

(Element) (Atomicity)
A. Phosphorus 1.2
B. Nitrogen pi
C. Neon 3.8
D. Sulphur 4. 4
Code :

A B LD
(a 4 1 2 3
(b) 4 2 1 3

©

@ a4

%i( In the following redox reaction, which

. Which one of the

61.

15

compound
agent 7

is acting as a reducing

)}L} “1,0,

(b) N,H,

() Ny

d) H,0

following 1s con-

sidered to be the purest source of

water ?

(2) River water

(b) Sea water

}Q/ Well water

(d) Rain water

Which one of

the following salts 1s

responsible for temporary hardness ot

water ?

(a) Sulphates of calcium

(b) Chlorides of magnesium

(¢) Bicarbonates of magnesium

(d) Sulphates of magnesium

C » TODC-T-GAT
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63.

62. = I & g 11 & gafera Hifdg il

gEEt & M fow T ge @ oy @i
ITX ?\{%Q :

gl | gl 1
(srfrfesar) (Y&TR)
A. CaO (s)+H,0 (I) » 1. Ua&el
Ca(OH), (aq) fereumam
B. CaCOj (s) > 2. -
CaO (s) + CO, (g) fereamam

C. Pb () + CuCl, (ag) —» 3 T
PbCl, (aq) + Cu(s) 4. fgem

D. Na,SO, (aq) + (3Ee)
BaCl, (aq) —
BaSOy (s) + 2NaCl (aq)
@c :
AL BATC D
() .2 1 4 3
) 2 4 1 3
fc) s '3 - 1 7
). 3 1 4 v

64. ferfafaa

(water gas) % ®

(a) H,0+CO,
(b) NH,4
(c) Hy*+ N,

(d) CO+H,

65. Frefifag & & @#m-@1 Fa9 "l
TR 7

(2) 1 3 ¥ forega geaamil A=A
(extended covalent bonding) E

HRUT FHORK BIdT &

(b) TR = 3R o wedid FeEl
¥ wfg o 2

(c) R forga = goTers @

(d) IEEE H SR HEd & ®Y F
forar SmaT ®

Frefofe & -, T e\ A6, PRt 3 e s 1936 % sE

afaferar (Endothermic reaction) & ?

(a) CH,(g)+20,(g) —> CO,(g)+
20, (g)
(b) CgH ;504 (aq) + 60, (g) —
6CO, (g) + 6H,0 (1)

(©) N, (g)+3H,(g) » 2NH, (g)

(d) 2PH(NO), (s) = 2PbO (s) +
4NO, (g) + 0, (g)

TODC-T-GAT - C

7 3ifge wRAE R 9T & qes uy
&Y reqerar i ?

(a) WESHG TEad!
(b) STR. Sf. T
(c) TW HATER dfeat

(d) STAWERTY TRIA

—

CX Scanned with OKEN Scanner



-
»

*
.
|
¥ s
o

“6Q/Match List I with List II and select the
answer using the code given below the
Lists :
List I List II
(Reaction) (Type)

- Single
displace-
ment

A. CaO (s) + H,0 (I) -
Ca(OH), (aq) ~\

B. CaCO; (s) »

Ca0 (s) + CO, (EL . Double

displace-
ment
C. Pb (s) + CuCl, (aq)

PbCl, (aq) + Cu (s) /\ > Combi-

nation

D. Na,SOy4 (ag) . Decom-
BaCl, (aq) — position
BaSOy (s) + 2NaCl (aq)

Code :

R s

63. Which one of the following is an
endothermic reaction ?

(a) CH,(g)+20,(g) > CO,(8)*
20, (8)

(b) CgH,,04 (ag) + 60, (8) -
6CO, (g) + 6H,0 (1)

(©) N,(g)+3H, (g) - 2NH; (8)

(d) 2Pb(NO3), (s) — 2PbO (s) +
4NO, (g) + O, (8)

17

64. Which one of the following is known

as ‘water gas’ ?7
(a) H,O+ CO,
(b) NH;

() Hy+N,

(d) CO+H,

ich one of the following statements
is NOT correct ?

(2) Diamond is hard due to extended
covalent bonding in it

(b) Fullerene is composed of five and
six membered rings

Miamond is a good conductor of
electricity

(d) Graphite is used as a lubricant

66. Who among the following presided

over the first session of All India
Kisan Sabha in Lucknow in April
1936 ?

(a) Sahajananda Saraswati
(b) R.G. Ranga
(c) Ram Manohar Lohia

(d) Jayaprakash Narayan

C - TODC-T-GAT
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67. Frafofes & ¥ fra ‘sar-wwm
RIAEE (Self-Respect Movcmcnt)' &l
wadq far ?

(a) SRURE] ‘;{ﬁ

(b) @t faasee

(©) 3 N IWrET TRER

(d) Sf. . IAR. siNEER

68. < Rrema & ot & = A
SwE ® 1| Fraffee & 3 @,
ot & w@—<ae ¥ R off 2

(a) foeemagaat

(b) SITEATHIT
(c) deeTas
(d) TeTssTH
69. B &= o % AR F Frfifad § @

FI9-97T FI7 gel § ?

1. @A foas 9 el 1916 &
o | o S MR
Fioa (S Wi aelier) & e
& 1T & T TR

2. Tt Fde J fdeR 1916 F B9 w1
ST & T3 i "o i

3. TFI9 ¥ 994 & foru faeres &y o
@ HER, (A TR B Blga)
FAled, A id IR /R § Frf
FAT A7 AR qbe i AT Fr AW
HRA &1 ya fear

(@) % 1 3k 2
(b) % 1 3K 3
(c) ¥ 2 3k 3
(d 1,23k 3

TODC-T-GAT - C
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70.

71.

Sqae iz forarame % way # Freferfin

¥ A a-a7 &9 qe TE T 7

@) ¥ w@Ea Hed, Fewar F
werrEd 4

(b) ¥ wardt faarea fla® (Govern-
ment Inspector of Schools) q

() 3 ¥ T % Woveld &

@ ¥ fagar qaffare wEifmam &

TS o
A I @ g I8 gAfaa difse sk

Tt % = fog T Fe @ e W
W‘g’ﬁl‘{:

I = 11
(gars)  (arfos &4/
&%)
A frop et 1. 3R Ffre
afed wsfefes
B. SETCH mﬁﬁﬁ S
et Al
2. fagan W
G ééi'm?ﬁ? Q—{ﬁ-ﬁqqam
D. ST IHATgT 3. O Wiy
™ 4. T
THT
9c :
A Boog
(a) | 3 -+ 2
). 14 N
). 2 3 458
@ 2 4 3 g
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67. ‘Who~ among the following founded the
Self-Respect Movement® 9

(a) Jyotiba Phule

68.

69.

(b) Swami Vivekananda

(©) E.V. Ramaswami Naicker
(d) Dr. B.R. Ambedkar

Chola 'inscriptions mention several
categoges of lands. Which one of the
following was meant for the mainte-
nance of school ?

(a) Tirunamattukkani

(b) Shalabhoga

(c) Vellanvagai

(d) Pallichhandam

Which of the following statements
about the Home Rule League are
correct ?

1. Lokamanya Tilak set up the Home
Rule League at the Bombay
Provincial Conference held at
Belgaum in April 1916

2. Annie Besant announced the
formation of Home Rule League
in September 1916

3. To avoid friction, Tilak’s League
was to work in Maharashtra (ex-
cluding Bombay city), Karnataka,
Central Provinces and Berar and
Besant’s League was given charge
of the rest of India

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d 1,2and3

19

70. Which one of the following statements

about Ishwar Chandra Vidyasagar is
NOT correct ?

(a) He was the Principal of Sanskrit
College, Calcutta

(b) He was a Government Inspector
of Schools

(c) He was a Secretary to the Bethune
School

(d) He was the founder of Widow
Remarriage Association

71. Match List I with List IT and select the
answer using the code given below the
Lists :

List I List II
(Reformer) (Social Work/Text)
A. Vishnu Shastri 1. Vedic Physics :
Pundit Scientific
Origin of
B. Kars‘gndas Hinduism
Mulji
C. Debendranath 2 Widow
Tagore Remarriage
Association
D. Raja Ram
Mohan Roy 3. Satya Prakash
4. Tattvabodhini
Sabha
Code :
VO BT e )
(a) 1 3 4 2
Bl §..53 2
R R T SR
@ g 4 30

C - TODC-T-GAT
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72. SST GWET H, T} ¥ My fRa
M R 9I¢ q ?

(a) sATER

(b) g

(©) wdwd (sRgd)

(d) starEry

73.9RE * s A el R

m%ﬁa%wﬁ*méﬁamwmﬁﬁg
FITHATTER Faferq Hifv .

1. 9iex Het

2. TEitar Hieke

3. swmTEt ffefos ffsRe

4. 357
4 1T T g2 1 A 9 SR g
@:2-1- 49
0) 23451
gy D SN TA,
(e T [

74.%&@@3@%@3@\8%@

(Bretton Woods System) & &aifirq e
:
(a) SRS 751 Ay

(b) ﬁ?ﬁqﬁ%%qwm
&I AT AT

@3mwﬁﬁ%m®mm%;

@) FfeR fafma R W smafa

#ifce gaedr 6 w@gam

TODC'T'GAT -C
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79,

76.

77,

78.

Y fepmrerr am @ 7
(a) Ueh UTgAT UTHS
(b) T A T

(c) Hicdre & AR (Satavahang
court) T T HAT

(d) =R TSt S erET
AR, U GaTHT-H1eq & IaTeam

¢, fort T A T )
T

(@) gy

(b) wel

(c) HegTER

(d) wFF

FE A% TRFH IR ARG TR B
WﬁENWWMQmﬁ@WHR%%ﬁQ
ﬁmﬁ%aﬁ%%aaﬁ\aﬁ-wﬁﬁdﬁ
HE (S 3 Figher) i v 7
(8) IR e 1773

(b) Toew fear wre 1734

(c) IR Tk 1793

(d) =R TR 1813

frfifir # ¥ fre Rre T8 % e
qy Y i @t ?

(a) TR T

(b) & 3H

(c) T TNeg

(&) Te i fa
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73.

74.

72. In the Harapp

an Civilization, traces of
canals have been found at

(a) Banawali

(b) Lothal

(¢) Shortughai

(d) Dholavira

Arrange the following foreign travel-

lers. toi India in chronological order,
beginning with the earliest :

1. Peter Mundy

2. Antonio Monserrate

3. Afanasii Nikitich Nikitin
4. Tbn Battuta

Select the answer using the code given
below :

@) 2-1-4-3
B 2 341
' 4-3-2-1
) 3=4=-1=2

With which of the following was the
Bretton Woods System NOT associated

(a) International Monetary Fund

after the

(b) Economic recovery
Second World War

(c) International Bank for Reconstruc-
tion and Development

(d) Establishment of a monetary
system based on floating exchange

rate

75. Senguttuvan is the name of

(a) a Pandya ruler

(b) a Chola king

(c) a minister in Satavahana court

(d) the capital city of the Cheras

76. The Ramacharita,

dvyasrya-kavya, telling two stories
simultaneously, was written by

(a) Subandhu
(b) Bhatti

(c) Sandhyakara
(d) Kamban

77. Which of the following Acts estab-
lished the Board of Control to guide
and control the work of the Court
of Directors and the Government of

India ?

(a) Regulating Act of 1773
(b) Pitt’s India Act of 1784
(c) Charter Act of 1793
(d) Charter Act of 1813

78. Who among the following Sikh Gurus
laid the foundation of the Khalsa

Panth ?
(a) Guru Nanak

(b) Guru Arjan

(¢) Guru Hargobind
(d) Guru Gobind Singh

an example of

C - TODC-T-GAT
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79. f R & ¥ fyw Qe @
Wm%?{mﬁ'xﬁamy
ST R 7

(a) veelt yuania Qs
(b) & dwat Qo
(c) Wt g=asty Aoy
(d) 3 YuaEig qreET
80. TT¥s et & a¥ Frafufeg § 3
-7 Y ?
(a) 1956-1957

(b) 1966-1969
(c) 1975-1976

(d) 1992-1993

81. @8 (BRICS) firer oo & s
frafafed #adi = fmr it .

1. o7 fomm fireR a9em s &
Fraifora ferar T a7

. 2 Tomm fimm wem foeht §
FaEl R FEfE g o g

ST F A F-a/A-a
2/8 7

(a) %A 1
(b) A 2
() 13K 2aHt
@d TAALTR2

T-GAT - C

weAl H TEd Wd By
frefuflaa  sawrsda  FeAHAT H
TergRATAT afedd #ifsm
1. www (de& ar3g 9a) &1 9
&1 faerre (advent)

82, el UE

3. Y9 GAR IYIE H FEI

= fog T Fe w1 WA 9 IR A
() 2=1—13

(by~1 5% 2

(€) 3 =224

(M 2-3-1

8. frfofem % & a-wr/ah-a
SR 2 /% 2

1. &9 9 & SRR
2. Tt & sfteR

3. B8 ¥ oRE W F g 7 ¥ Ry
frges ok afert e
SIBED

A few Y e 1 wan W SR g .
(a) 13k 2
(b) 23R 3
(c) ¥ 2
(d) A 3
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a e, ¢ e L .
» i‘-‘ca‘:‘ Nw&fﬂ"‘-* gy ™ ‘:\M;uq o Ny ™
F e . X %%,
o «< w“““ﬁ ‘ “‘kQ\ ’ Ty
&> Do e, : k'.‘t\."l.»‘i; !
" " 3
Sl . . Wina ’“’l—s‘ > Ny
Wl ‘ 3
9. Which on
%i € among the i
AT 4 followmg plans B2 Placing the earlies ‘
nown as Mabhal; e g the carliest first, arrange the

anobis Plan ? j
(@)

First Five Year Plan

(b) Second Five Year Plan

(c)

Third Five Year Plan

Sixth Five Year Plan

.~Which of the following were the years

of Annual Plans ? W
AL 2

(a) 1956-1957

(b) 1966-1969

Mﬁ-w%

(d) 1992-1993

81. Consider the following statements

about BRICS Summits :

1. The first BRICS Summit was held
in Brazil

2. BRICS Summits were held in
New Delhi on three occasions

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

23

following international events in the
chronological order :

1. Introduction of www (World Wide
Web)

2. Advent of Inter-Continental
Ballistic Missiles

3. Launch of first communication
satellite

Select the answer using the code given
below :

@ 2-1-3
By =23
_for3-2-1
(@) 231

. Which of the following rights under
the Constitution of India is/are Funda-
mental Right(s) ?

1. Right to work
2. Right to privacy

3. Right to free and compulsory
education in the age bracket of
six to eighteen years

Select the answer using the code given
below :

(a) 1 and 2
(oY
(c) 2

(d)

o

and 3
only

3 only

¢ - ToDCTFEAT
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84. ARG WaAl ¥ Al (flags) &
oy & fafofya et w few
ﬁﬁi’q:

I. EU® &9 # 99d yoayfy | g7l
Rt w1 =5 = gar @
4 2. UN & &9 3 g % g1 ) & i
ITETY §
3. ASEAN & &9 & e, o, @
R dterr 71 &

S # ¥ fea/fray s e

g/%?

(@ =

(b) 1

{c) 2

(@ 3

85. frffiea # & wa-et wfify wra &
EEdl U9 gEnE % faddewr 9
s Heg AE & 7
(2) SeEd I Agar atify
(b) &M wean afufy
(c) ud. wH, faudt afafy
(d) afafsa &= afufy

s ¥

86. UF Fader o &I BIehE G 05 m @ |
A g 2

(a) +0-5D
(b) —-0-5D
(© +2:0D
(d -20D

TODC-T-GAT - C

87, foreft sadira &1 #, 20% Faaq @ Mo
Teh i foga  awrETd  werd g
g fopu o @ it faan Fraffea a0
& fram @

(a) cftrur-ge sss fram
(b) FIfFRT T ATEE fam
(c) Wi & sfivr-gea fogm
(@) T8 @ frem
88. @ElT AR (AU) ¥ U& 9ras
(parsec) TRTHAT feheaT 1T @ 2
(@ 2x10° AU.
) 10V A .
(c) 2x10° AU.
(d 2x10°AU.
89. ftr & Tt foomr & forn Frefifee
& T Fo W A 2

firs 3 won 3 et @ @

(b) et fiie = ™ aren e sret sy
& fem ¥ ey @

(c) W%Wﬁ?ﬁﬁﬁwaw%
SRIER Bt ®

fie & waw & wrardt Bar @
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84. Consider the

following statements
with regard to flags of Intern:

Organizations :

1. The flag of EU has

a circle of
gold stars on a white b

ackground

The Flag of the UN carries two
pqns of olive tree branches

3. The ASEAN flag carries blue, red,
white and yellow colours

How many of the above statements
is/are correct ?

(a) Nil
(b) 1
(c) 2

(d 3

85. Which one of the following com-

mittees is NOT associated with
decentralization of Panchayati Raj
institutions in India ?

(a) Balwant Rai Mehta Committee
(b) Ashok Mehta Committee
(c) L.M. Singhvi Committee

(d) Abhijit Sen Committee

. The focal length of a concave Jens is
0-5 m. The power of the lens is

(@) +0-5 D £ 39
(b) -0-5D 4* &
. i D'// i
/((+2-0 D ok
(d 20D

ational S

—

25

P \ %37. The rule to determine the direction of

a force experienced by a straight

current carrying conductor placed in a
magnetic field which is perpendicular
to it is

(a) Right-hand thumb rule
/(,b’f/Flcming’s left-hand rule
(c) Fleming’s right-hand rule

(d) Hund’s rule

88. One parsec in astronomical units (A.U.)

is about

(a) 2x10° AU.
(b) 2x10* AU.
() 2x10° AU.

(d) 2x10°AU.

89. Which one of the following statements
for second law of motion is NOT

correct ?

(a) The net force on a body is propor-

tional to that body’s acceleration

(b) The net force on a body is in the
same direction as the acceleration

(¢) The time rate of
momentum 1s equal to force

(d) The net force on a body is propor-

tional to that body’s momentum

C — ToDC-T-GAT
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90. feht i & argmm 310 K @ e
340 K & wrar @ fuft afcma #
T # e afy gd @ 2
(@ 20°C
(b) 30°C
(c) 37°C

(d) 67°C

1. et e e g fag g et %
forg frafofes & 3 -ar o ae
TER?

99 § WaT

(b) Torar o = S fie & P
R ifom &y & 99 6 sairw
T R sk awar @

(c) Toam = fie grr 3ty g
99 R 43R a=ar ¢

(d) 7fe fiz A TecarsT a0 F A
foearfia foran smar & & Rear
FE '

92. frfofed # & wH-91 a7 wa @ 7

(2) == & gfEmr & arg-gre R et
(b) & Frelt 5o # foram e T &
314 Hedl ST §

(©) T sik fefrn @@ oF @ v
R FH R B

(@ T R N/m? T & e
(gfe) =t frefim o= €

TODC-T-GAT - C
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03, Frfafia 3 @ form atme=d & fafero (

X-ray % AGET B Fha1 & 7

(a) 1 nm
(b) 10 nm

(¢) 100 nm

(d) 300 nm ?

94, foret Q}‘sﬁ'rf H, A (eyepiece)F\‘TR-'f E2l
o | AfHgaE (objective) o8 A

(@) IS wFE W AR a2 TRS
(aperture) T B

(b) fts www @ IRk B TRE
=T

(©) % e 3 ok = g B 2
(d) FF HiFE G AR DR TR BT

95.%ﬁ9ﬁﬁ'ﬁzﬁw’ E®R E=hf‘3$
T H o e wn ww , w f
m%ﬁhmﬁ\?ﬁ]‘a{%|haﬁ
fomm (dimensions) fres & € 2

(a) Wass qavr
(b) i Faw

(c) faeermam

(d) =erreef
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\\‘(I. The temperature of a body iner (
Cnses
8o )3, Which one of the following wave

[}

from 310 K to 340 K. The temperatur
' o
increase i degree Celsiug

(‘) 2000
&
7 50°C
'
“(c) 37°C

(d) 67°C
. Which one of the following statements

for the work done by gravity on a body
is NOT correct ? ,

K\Vm‘k done is independent of the

path followed by the body

(b) Work done depends only on the
vertical distance separating the
initial and the final position of the
body

(c) Work done depends on the path
followed by the body

(d) Work done is zero if the body is
displaced horizontally to the force
of gravity

< Which one among the following

statements is correct ?

(a) Pressure has magnitude as well as
direction

(b) As we go deeper in a liquid, the

pressure decreases
(¢) Action and reaction forces act On
the same object

/(A’)/Pascal and N/m? represent the
same unit

27

|('II)"||I Iil(’hlll“ll". may ll;']l',‘,(,“’l toy
an X-ray

| nm

(1)

(by 10 nm

(c) 100 mm

(dy 300 nm

94, In a Telescope, compared to the

eyepiece lens the objective lens has

(a) larger focal length and larger
aperture
(b) larger focal length and smaller
aperture
(c) smaller focal length and larger
aperture
(d) smaller focal length and smaller
aperture
95. The energy, E, of a photon can be
' . ¥
expressed as E = hf where f 1s the A
frequency and h is Planck’s constant

The dimensions of h are the same as

that of

(a) linear momentum
(b) angular momentum

(¢c) displacement

(d) torque

C - TODC-T-GAT
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96. forelt &g W rfar) et grr foRar o
w1 g § af

(a) o & foegmow @er Y fRem &
foadia foarr o 2rar @

(b) a& &1 foeqo e & R & @
I R

(c) o =1 foeqgm s Y foar &
Seaq four # gar @

(d) St § § FE 4

97. Tt sgd oot gRMETS IRATRET *
HIR gy & Biar §

(a) T&H&HATH

(b) A

(c) A

(d) #eafag R I==qw

98. fferfaa & & forer ST &1 S9amT
—250°C 91999 7199 & forq femam
TFHar g ?

(a) Tt omr st Qw5
IYTNT Fh

(b) Teret Uesptear smemia amaaTdt @5
IYGNT &k

() Tt et (FFafieer) amimie
& UGN &k

@ f&d amdgs gm  snaRa
AR 1 ST A

TODC-T-GAT - C
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99, fopeft ward & Umd gAHT HI, Iaw
et 7 gftada fero fomm 29 @ amg i
aae & fero smfaa e i aen 9
T FEl AT 8 7

(a) fafirse Fom
(b) fafirse a0 o
(c) ardra arfear
(d) o1 St
100. 98 a9 @ W “fordt ger = # @

9 T ATSH-S1F agHSH T G1F & aiE
B ST 7, 4T el St & 7

(a) e (Melting point)
(b) FEFH (Boiling point)
(c) ¥@ f93 (Liquid point)
(d) S A | FE &
101. T5-7919 & SR § foafafag § 3
HIT-HT I T D ?

@ TWE d 3fg T | = afg
Bl § is

(b) T | I W W
et

(c) auHE ¥ gfg a1 = B W T8
UehHHTT S4T QT

(d) I9WE # 3fg ar = h B W
W Bl
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. The work done by the forc
« 1 1 ) t‘
an object is zero if the
of the object

acting on
displacement

’ (@) 1S in t'hc opposite direction of the
direction of force
N i R X

(b) 1S, n _thn same direction of the
direction of force

(c) 1s n perpendicular direction of
the direction of force

(d) none of above

i ('i‘

9Y. The magnetic field inside a current

carrying very long solenoid is
(a) Uniform

}b)/ﬁon-uniform

P

98.

Mero

(d) Highest at mid-point

of the following instru-

Which one
e used to measure -D50°C

ments can b
temperature ?

a mercury based thermo-

(a) By using
meter

(b) By usingan alcohol based thermo-
meter

By using 2 clinical thermometer

(©)

By using thermocouple based
thermometer

(d)

29

k). The quantity of heat needed to change

.__.."\"‘m “
unit mass of a substance from liquid to
vapour without changing the tempera-
ture, is called ol
f'ﬁ
_(a)yspecific heat
(b) specific latent heat -
L
(c) thermal capacity
;.::::b‘
(d) heat energy
00, The temperature at which “vapour
pressure of the liquid in an open vessel
becomes equal to the atmospheric
pressure” is called
—
i,
. P -
(a) Melting point —
/ij/Boiling point
(c) Liquid point o
(d) None of the above
. ~ . ."
t- Which one of the following statements
about surface tension is correct ? e
Ty
A
(a) It increases when temperature .
: -
increases
-5 L. .
/f(b") It decreases when temperature T
- increases
(c) It will remain same with increase

or decrease of temperature S

(d) It will always decrease with

increase or decrease of tempera-
ture

C- TODC-T-GAT
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102. ®¢ firg orer & g sen @, e

(a) & & 9T fig & waer & sft

e @

(b) S & " fig & wag q o

gar @

% “‘" -

(c) 5 & Uqeq fig & uaca & @R

et @
(d) foe wrd gar 2

103. Fg@ R fodt eeres o= afd @ s
gt fodt ke i & 9 wa
(IFed) F99 A9 BIAT H FHAA: A
#I AR 41 Grear & ?

(a) g & RO I FH FRA & oI
(b) g & = H FGH & i
(c) iz & & # gfg w1 & forg

(d) Z98F § & F1E 7E

104. 5a 4 w0 faedt ot @1 ad 381 g3
wdta grar & | g fem @ro @ e
g7

(a) WY & GFd
(b) WETY H AYGAA
(c) VeRTST T AT

(d) weer &t feade

_ TODC-T-GAT - C

105. SONAR @1 gf =9

(a) arvfees e fm

(Sonographic Natural Ranging)

fiyraer Ataterae Afaem 5
(Simple Operational Navigation
Ranging)

(b)

ar3e Afanem vz i
(Sound Navigation and Ranging)

(c)

(Simple Operational Natural
Ranging)

(d)

106. Frafafaa & 4 fom fafe = <
qaTes Ban g 7

(a) g feror (X-rays)
(b) YRS (Ultraviolet)
(c) g™ T (Micro Wave)
(d) 3 (Infra-red)
107. Tfass sraen § faemm fadt gerd &

fog, frafafed # @ -1 == w8
7

(a) Tt fag-Aeh = smafie e
ST el ©

(b) T&H 3yl wrew W sl e
ST |l §

(c) 3meel wrew 3R far@-Ae A
& srafir forar s wehar ®

(d) ey wee SR fag@-Aeft QA
1 srafsrd =& frar < wewar @

30
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A body sinks in water when

(a) dunxlily of water is greater than
density of body .

(b)

density  of

| water 15 less than
density of body

(c) dc‘nsily of water is equal to density
of body

(d) the body is heavy

7\

\

) \l\fj. Why a fielder in the ground gradually

pulls his hands backward while

catching a fast moving cricket ball ?

’/(,a)"'l’o reduce the acceleration of
/ the ball

(b) To increase the acceleration of
the ball

(c) To increase the velocity of the ball

(d) None of above

!

C%e—‘*«»Bottom of a tank containing water
appears to be raised. It is due to

(a) Reflection of light
/(b)/B-ef caction of light

(c) Interference of light

(d) Diffraction of light
31

e 7T

0|
,\‘(\5, SONAR stands for
J

(a) Bonographic Natural Ranging

'

(b) Simple
Ranging

Operational Navigation

(¢) Sound Navigation and Ranging

(d) Simple Operational Natural
Ranging

106. Which one of the following radiations
has longer wavelength ?

(a) X-rays
(b) Ultraviolet
(c) Micro Wave

(d) Infra-red

107. For a material under static conditions,
which one among the following state-
ments is correct ?

(a) An insulator can be charged

(b) A perfect conductor can be

charged

(c) Both perfect conductor and insu-
lator can be charged

(d) Both perfect conductor and insu-
lator cannot be charged

C - TODC-T—GAT
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108. T =afth fimhe € awgail @) qre-are
@ ww R g R R et @
FEea: e @ wean @, aw wifh v
A

S
(@) d-gzfe Ay (e Ran)
(b) S ggiwar (Ygamafan)
© Fwe-gfe v (amifin)

%ﬁﬁm(ﬁw)%%qwfgﬁm
IeE wh R .

(a) Faa fage (isolated)

(b) o e (non-isolated)
() T sk aifeges et §

(d) S9E F ¥ S T

109.

@ M gEEH H# AR @ fag A @
TR H AR ISTAT T 8, I8 IouqH
fag B @& wgadl ® ok 9w A & U
g1 st g | freafofea #§ & -

(@) AR 7fas it = B R fRifos gt

110.

(b) AR 7fcst it = AR TRt g
() BR fas Foif = B R fufas it
(d) BR 7fest I = AW feas gt

TODC-T-GAT - C
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111, sifegferar 6t wfta gew gt &

JUATH T T 7

Q@ hITEH

(a)
(b) & gud

@ gefthee

Q@ hehTaH

(©)
(d)

112. f=fafaa # & forg wwrsa = a6 2025 7
g qar & 150 a9 gof foRam & 2

(a) YR Feqfa adeon
(b) WRca "aegor fawm
(c) wra wew fomm fammn
(d) 39 gE 3 e
113. ‘Siermes & R # frafafem F 3
FI-H /S8 Fae e 2/ 2

L 78 T & § Sefaeww g u
T-oa ¢ R wrdm R
ot feram o

2. 98 WRJ WER GRT WRW &t T
FA F IRagd A Wearfed =@
1 T et Aify

M 137 T e w v gfc:
(a) ad |

(b) ¥ 2

(c) 18K 2t

(d TA 1,982
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A\ person can see ? . )
P - g I 18€e ne dlhy objects clearl i/ -
but cannot see dist . arty L.-What is the nickname of the National R

ant object dig “
I . : . 1stincet] ’ e
the person is suffering with i Men’s Hockey Team of Australia ?

(a) Hypermetropia (3)~"The Kangaroos

&

(b) The Boomers Bt
(b) P!'L‘Sh_\"npi;\ ’
) M (¢) The Dolphins :"ﬂ«.‘
(c) -Myopia
p (d) The Kookaburras
(d) None of above
112. Which one of the following organisa- BV
) tions has completed 150 years of -
109. The energy ‘ ¢ ;
W SRR 4 fﬂWdyS conserved for a service to the nation in the year 2025 ?
system which is et
(a) Botanical Survey of India ’““'.
(a) 1solated only iy
(b) Survey of India
(b) non-isolated only : '
(c) India Meteorological Department -
(c) both isolated and non-isolated (d) Press Trust of India
(d) none of above : :
113. Which of the following statements har
about ‘Jalvahak® is/are correct ? T
ppose, a ball of mass M is thrown : Uy Sy
upwards from a point A and it reaches l.Itis a newly 9011\111155}L)11€d naval ~—
L up to the highest point B and returns ship inducted into Indian Navy —
back to point A, which one among the _ _ o .
following is correct 9 2. It is a major policy for cargo pro- .
ollowing 15 ' motion unveiled by the Govern- e
. 3 " Indie
)y/}(inetic O Potential ment of India
Energy at B Select the answer using the code given
- below : -
(b) Kinetic Energy at A = Potentia
Energy at A (a) 1 only ——
Kinetic Energy at B = Potential (b) 2 only
Energy at B (c) Both 1 and 2
: 7 = Kil’letic
(d) Kinetic Energy at B (d) Neither 1 nor 2
Energy at A
33 C - TODC-T-GAT
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114. 9§ 2024-25 & wfeufy & sqoR

weretr et udt yefior Qs acd
* s & st fras anftor et )Y
e fovar wr @ 2

(a) 600

(b) 740

4 |

(c) 700

(d) 680

™

IIS.ﬁmﬁ%ﬂﬁﬁ%ﬂ’W%ﬁaﬁamj‘l
HERT Tg& A F UoF IREdT
S (SIT) &I w91 & g weman
TG FRal g ?

(a) <A1 & fog NITI @i

(b) FRA F Fgd weH

(c) T~g weEar faem

(d) et =ATE FwEHT (YRRYE
Eeipic)

116. frafafaa % & fom wrdm o9 §
FlETEe AR FETEE H Aftemaw freg
(deposits)%

(a) g wew
(b) AEg e
(c) #RGEE
(d) srfeam

TODC-T-GAT - C

dafirfy fean & waw #
f,‘p,(f,‘ﬂu,{ ';.7141 Ui f'I'H’ 'fvlf AT

117. i

1 7e 11 75 1998 §t eyt gz
F1 o fearar 8, 99 WEa A
At ofes & Hata @%ha 90
gdiggor fepu 2

2. T wrnfirht fema 2025 % fom
aftefs faua (9m) = |
AT — AR o fog 71 Afers

FY yodferd HAT B
Iudth | § -G /FA-H FAA FqE
?/% 7
(a) aet 1
(b) Ft 2
(©) 1 3R 2 gt

(d T 1L,a98 2

118. frafafaa ¥ & fF2 o 2025 & wre
H IHER T & €9 F e R a2

1. FFRRIRICES el stwaReg

2. IYaT FHiA

3. ®TGETR it

4. SRR awrsi sy
13 o e e s v g
() 13R 4

(b) a2 3k 3

() e 1 3K 2

d) 1,23k 3
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114. How many rural districts
Mahatma Gandhi  Nationq l.\ does
Employment Guarantee 8 Rural
on 2024-257?

117. Consider the following statements with

Act cover as regard to National Technology Day :

1. It commemorates the momentous
events of 11th May 1998, when
(a) 600 ly 1995, WA
India conducted successful nuclear
tests under Operation Shakti

(b) 740
7. The official theme for National

) 700 Technology Day 2025 is “‘School
(¢ o to Startups — Igniting Young Minds
to Innovate’

(d) 680
Which of the statements given above
is/are correct ?
115. Under which one of the following (a) 1 only
initiatives does the NITI Aayog support
interested States to establish a State (b) 2 only

Institution for Transformation (SIT) ?
(c) Both 1 and 2

(a) NITI for States Platform (d) Neither 1 nor 9,

(b); Bamat Ke Batic G 118. Which of the following were added

India as Ramsar Site in the year 2025 ?
(c) State Support Mission
1. Sakkarakottai Bird Sanctuary

(d) Aspirational Block Programme 2 Udhwa Lake

9 3. Rudrasagar Lake

%, Which one of the following Indian
lt} States account for the maximum 4. Bakhira Wildlife Sanctuary

deposits of Bauxite and Chromite ? . ’
Qelect the answer using the code given

below :

(a) Andhra Pradesh
(a) 1and4

desh
(b) Madhya Prade (b) 2 and 3 only

Markhand (c) 1 and 2 only

(d) Odisha (d) 1,2 and 3
35 C — TODC-T-GAT
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119. frde Raardt fae @reelt & & #
frafarfaa suat s fift .

. 98 & fpde & @@ Qe vdw
(double centuries) CCIc I T

TSHHTH & ©

2. 9% $HM & &9 H galfte ude
IR 9 uEHE WRaw fde

femrst ®

3. 98 S il YENd § Jgal Adh
(twin centuries) S 9 Ted

WRAIG S &

4. 3w T ¥ ey I} wdS
M 9 WRAE B 1 Sl

e ®
SodtE § ¥ FH-9 FIF G ¢ ?
(a) e 1 3R 2
(b) Fad 2 3R 3
(c) &ad 1,3 3R 4
@d 1,2, 33K 4

120. vafg®  (Ethereum), 25T (Tether),
o (Solana) 3R FretAr (Cardano)

— |4t formes ®9 € 7

(a) former wdddt

(b) FF igaen (Al) wrésm
(c) Wa-HeY (¥LAfEe) ale
(d) #feser Tw

TODC-T-GAT - C

“The Origin of Species by Means
] HEaF BT 7

121. Y&i&h
of Natural Gelection’

(a) red BT
(b) FAd Arfrraa
(c) AT AeRfFACTR
(d) wrafee
122. g Hgw fomme @A (WMO) =
qeATd el T 27
(a) TEresteds
(b) THIEAS
(c) Tféqur skt
(@ ze=l

123.35q% pH @ ® #Fa dARR T

(human alimentary canal) & TAEA
IR ok e vd = 8, 3 2

(a) A pH 2-0 AR 7-9
(b) SFE: pH 4-5 3R 3-5
(c) AW pH 9-5 IR 4.5
(d) Y pH 7-0 3R 8.0
124. 99 Whel (FOFE) TRI WA o6
& QR Wi Y8 917 Y 3 Wiew 3R

a1 I FTR Heh dRA Dl AT @
&9 | oreh feran S @ 2

(a) & &war
(b) SR A
(c) Sid:yaE+ 3=

(d) FoHH el G

36
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| Mabout Cricket player Virat Kohli

1. He is 5
is the only captain to have
S -~ ‘ - S ENLT y
'?xud ;sn\&ﬂ double centuries in
Test Cricket

4

2. H$ 1s the only Indian cricketer
with most centuries as a captain

3. He 'is the first Indian captain to
achieve  twin

captaincy debut

centuries on

4. He holds the record for the most
double centuries by an Indian in
Test Cricket

Which of the statements given above
are correct ?

(a) 1 and 2 only

((,b)/2 and 3 only

(¢ 1,3 and 4 only

([ 1% 3 and 4

hereum, Tether, Solana and Cardano
are all forms of

}/Crypto currency

(b) Artificial Intelligence(Al) Startups

(c) Humanoid Robots

(d) Medical apps
37

,\\2\{ The book ‘The Origin of Species by

Means of Natural Selection’ was

authored by

(ay” Charles Darwin

(hy('amlu', [Linnaeus

(c) Barbara McClintock

(d) Copernicus

122. The headquarters of World Meteoro-

logical Organization (WMO) is located

(a) Switzerland
(b) Scotland
(c) South Africa

(d) Italy

123. The optimum pH at which the enzymes

#H

pepsin and trypsin of the human
alimentary canal works are

(a) pH 2-0 and 7-9, respectively
(b) pH 4-5 and 3-5, respectively
(c) pH 9-5 and 4.5, respectively
(d) pH 7-0 and 8-0, respectively
The amount of air breathed in and out

during a normal respiration by human
lungs is referred to as

(a) Vital capacity
(b) Tidal volume
(c) Inspiratory volume

(d) Total lung capacity

C - TODC-T-GAT
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125. 99 # wwfag) ok st & &
ﬁﬂﬁ?ﬁiﬁ A ﬁ FﬁW Tl Y94 (Wﬁ :{ﬁ
| 34
(a) W1 ge@ A 6 A wreht § srafn

RR1T gea & 3R w6 ot @

() TN whar vl stwdcEs
A I ¥ srafs gt ik
T AR T & Sl §

(c) sma: ARt &6 g #
il ft SR e 91 sk
SSRGS

(@ gufE & o W o ¥ fig
rEit s e €

IZG.WWﬁWﬁﬁqsﬁqﬂw%

(a) Ff=es fHad I/ heE, @R
T, T899 311fe

(b) FEl T F HAS AT WH FA
et &1 @ g

(c) SBfess #Eufimt & w1y @t
frafaa s

(d) %@ 31 Y2 W B H G

127. FAMETIF T TAR WA & T

Hecayyl fewr ® | ag frafafag o @

foraer weev & fom sravae @ 2

(a) TG

(b) FTERIFHIA

(c) zfem

(@ ufgaef

TODC-T-GAT - C n s

128, fiqat & s w9 (menstrual cycle)
giatat gra frafa g 2 s wnfam

g8

(a) e R a1y w4 g
(b) e 3 da 7fa g
(c) signm R digw #f4 g

(d) gREF (Weee) R T wf g

129. Frafafe & & =9-@1 @ =ifimE
TR WK wfera sgfrar & aRm =35
e # wiReht (TEiet) &1 |91 Fal
g7

(@) ggifeat
(b) sNfaAIfRa

() ﬁ*!T‘ﬁ‘HIEE
(d) |

130. frafafed # ¥ fom S =1 son
@ H A 3R TR e @ 2

(a) URrwntowsd fegem sk wieh
a-i_ﬁ .

(b) WrElEifa ok FeRIwmee

(c) USwfowa Megem sk wr=Rr-
e

(d) =iy fifs stk SR

J R
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i
25 Which one
) i among the follow
atements about arteries i
humans is NOT correct ?

and veins in

a) rte 1o o .
( 1A nrus carry blood away from
1ea ‘hile  vei ‘

while veins bring blood

towards the heart

/ (b) Pulmonary arteries always
- s always carry
n i
u\_\gum@d blood while Pulmo-
nary veins always carry deox
genated blood ; £t

(©) A.rterjes have thicker and more
elastic walls compared to veins in
general

(d) Ar.teries do not have valves but
veins do have valves

126. Identify the functions that are con-
trolled by the hind brain of human

being

(2) Involuntary actions such as blood
pressure, salivation vomiting etc.

(b) Controlling the regions receiving
sensory impulses from receptors

(c) Controlling the movement of
voluntary muscles

(d) Sensation of hunger or being full

a vital part of our diet

_Todized salt is .
he synthesis of

as it 1S essential for t
(a) Estrogen

Thyroxin

(d) Adrenalin

}ﬁ) The menstrual cycle in females is

controlled by hormones that are
secreted by

129. Which one of the following blood cells

(a) Ovary and lacrimal gland

(b) Ovary and sebaceous gland

(c/) Ovary and pituitary gland

(d) Prostate and pituitary gland

type secrete large number of antibodies

during an immune response of the
body ?

(a) Neutrophils
(b) Eosinophils
(c) Lymphocytes

(d) Monocytes

. Which of the following organelles have
their own DNA and ribosomes ?

(a) Endoplasmic reticulum and Golgt
bodies

/(b,)/Mitochondria and Chloroplast

() Endoplasmic reticulum and cyto-

skeleton

(d) Cell wall and nucleolus
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131. frafafeg o=t (Zones) @l YudE T
S s faar & srar s
w9 7 wafer fifto .

L. ﬁgaa‘h &% (Equatorial zone)

2. HegEmfia &% (Midlatitude zone)
3. SY-ITRYAT ax (Subarctic zone)
4. 7 Hfeaty & (Tropical zone)

1 g 1T e w1 v R SR g
@ 1-3-2-4
b) 1-3-4-2
€ 1-4-2_-3
d 3-1-2-4

132. %°SER  (Feldspar) @ &% sy &
frafafes 991 ) fmr fiftg

1. #TE O9ET FeswR & o §

2. TEEH W T AW A AR A
TATE T BT § ,

3. B YR & Heseqr A Wi
U% A acd BT §

ST # & FH-A1/FH-7 w9 qe
?/87?

(a) &ae |

(b) Fae 1 %k 2
(¢) e 2 3R 3
@ 1,23k 3

TODC-T-GAT - C
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133 el e (Sedimentary Rock) 3ﬁ\t

frgfor B wfoRa ¥ Hed #
Creferfr et wt forame b

I %

Haq13! ferafor &1
dher ez
| 5 arafas &9
| a fafifa
). METWTEE  —  AfAh ETH
ffifa
3. o —  gifm w5
¥ fofifa
JofE # A SiA-E1/FA-8 g el
gafora /€ 7
(@) Fae 1
(b) Sad 1 IR 2
(c) FaT 2 3R 3
(d), 1.2 a3
134 FreafiRe % @ e /Ay
e B/ ?
1. TR Qrsat (Oceanic
trenches) &iel &t 7y ¥ e ¥
2. TEMERE WA wfew  sere-
@@ﬁﬁkmﬁmmﬁqﬁﬁ%?WQ
8
A f3 T e e R g g -
(a) Sad |
(b) e 2
(c) 13K 22l

(d Tdq 1,98 2
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~Arrange

§4 the following zones

ascending order in terms ’ “;8
N O

latitudinal extent on the Earth ‘}\ufil,
arth surface

in

1. Equatorial zone

o

_ Midlatitude zone

(95

. Subarctic zone
4. Tropical zone

Qelect the answe i
S E er using the

C =)
below : e

given
@ 1-3- 2 -4
® 1-3-4-2
‘M”f- VIR P
@3-1-2-#
132. Consider the following statements with

reference to Feldspar mineral :

1. Half of the earth’s crust 1S
composed of feldspar

2. Tt has light cream to salmon pink
colour

3. Magnesium is a common element
in all types of feldspar

Which of the statements given above

s/ are correct ?
(a) 1 only

(b) 1 and 2 only
(c) 2and3 only

d 1,2 and 3

133, Consider the following pairs with

41

reference to sedimentary rocks and the

process of thei formation :

Sedimentary

Rock

Process of

Formation

1. Chert Chemically

formed

2. Geyserite Organically

formed

3. Shale Mechanically

formed

Which of the pairs given above is/are
correctly matched ?

(a), 1 only
(b) 1 and 2 only
(c) 2and3 only

(@ 1,2 and 3

4. Which of the following statements

is/are correct ?

1. Oceanic trenches are Very signi-
ficant in the study of plate move-
ments

2. Qceanic trenches are associated
with active volcanoes and strong
earthquakes

Select the answer using the code given
below :

(a) 1 only
(b) 2 only

v ey Both | and 2
(d) Neither 1 nor 2

C—JYODCJPGAT
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135. yoq K feufy & s & (shadow
zone) & wed # fraffea # @
- /-] @y wer e/8 ?

1. 3@a aiftdg ¥ 105° 3R 145° %
9 & &3 @ pawt R S-awn
A & fore o & & w9 # fufga
fomar

2. P-GGN & O™l 87 ST & ol
g7 ¥ it faega

19 fou U fe 1 A W IW g
(a) ¥a 1

(b) F&d 2

(c) 13K 23l

(@ JTA LT 2

136. frefafiga & ¥ SH-6 SaremgEr ¢

FEAT HEA-HE@RREG hechi 8§ €og
TE B 7

(2) FSRA (Azores) GITHHE

(b) FEf@A (Ascension) GITEHE
(c) 7arE (Hawaiian) GrI8He
(d) fz#27 21 F==1 (Tristan da Cunha)

137. @51 a@it & ded # frafafea wgat
q'{fﬂaﬁ‘q?lﬁﬂ'{

1. a&T & g & fukor gaq
fa, g 6t srafy, 3R aon-ufer
(fetch) & raT &

TODC-T-GAT - C

42

o4 f"Nh «Tj‘I 'fi‘ ’nrﬁ 33{7£ﬂ ‘Iqu"‘é ;3:‘ a-ﬁ 135
¥ wwrarel et -

3. 7Y METENT W A A T A

sreft sifereior FoAt @1 &0, TEA
2

S # @ FXA-|1 /-8 FAT HE

2/8 7

(a) &A@ 1

(b) Faa 1 3R 2

(c) Faa 2 3R 3

(@ 1,2 3K 3
138. o1 Trafor wifean & weef # frafafaa
# A AH-A1/FA- FIA G 2 /T 7

1. MG (translocation), LEBT]
(enrichment), J9ERYT (removal)

R U (transformation) HaT
frrrtor wifsean S fafdmr Sifvmn 2

2. TR H, G&H HUI 1 A&
(eluviation) RT = T 3R o ST
STAT § 3R @Wded (illuviation)
TRT fo=rel T&RY (horizon) ¥ w4
feram < @

A fog MY e w1 R W IR 9f
(a) % 1

(b) A 2

() 13K 2

(d qAd@1L,T8 2
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135. Which of the foll

136.

137,

owi
Ving Statementg

with reference tq sh
168 in

adow
event of an earthqu -

ukk‘ ls/ an

are correct )4
1. Zone between 1050
cpicentre was
shadow zone

2 and 145¢°
identified
for both

from
as the

) [
and S-waveg ~“Waves

2. The shadow zone of P-w

much larger than
S-waves

aves is
that of the

Select tl

1€ answer using tt i
e code giv
below : i

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
volcanic island chains is NOT asso-
ciated with mid-oceanic ridge ?

(a) Azores Islands

(b) Ascension Islands
(c) Hawaiian Islands
(d) Tristan da Cunha

Consider the following statements with

reference to s€a waves :

t of waves is determined

1. The heigh d duration, and

py wind speed, Vi,
fetch

2. The energy of a wave is propor-
tional to the square of its height

3. Waves retain most of their energy
as they travel across the deep

ocean

Which of the statements given above
1s/are correct ?

(a) 1 only
(b) 1 and 2 only
(¢) 2 and 3 only

(d 1,2and3

ich of the following statements
with reference to soil forming pro-
cesses is/are correct ?

1. Translocation, enrichment, re-
moval and transformation are
different classes of soil forming
processes

2. In translocation, fine particles are
transported downward by eluvia-
tion and accumulate in lower

horizons by illuviation

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
A¢) Both 1 and 2

(d) Neither 1 nor 2

C - TODC-T-GAT

g5
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139. 9ot & qrgHse & aeaAr & el A
Freafofea waat w fmr @ .
1. SN9HSS (troposphere) $ merd
fayaq gv w v st R
2. &ﬁﬂ?ﬁm (tmpnp;msc) E q &l
qOEE gal ¥ W gEd siftre
BiaT R
3. eivwed # wAF 165 Hew &
SN W T9EE 1°F 6t R ¥ "ear
S
SUUT A ¥ H-u1/9N-8 T 98l

= = 9

e/% ¢

140. FF=fefes 3§ & #9-8 oR$ goht |®

F2799 (insolation) i HET & Reray &

1. 97 F H9H FE W gHAT

2. T & warg

3. 971 R fi R 5 a1 fierw
it fog 0 2 a1 e AR g gf
(a) ¥&d 1
(b) F@a 1 #k 2
(c) %aa 2 dRk 3
(d 1,2 3K 3

TODC-T-GAT - ¢

141, gwrfeaty qEEl B It ek
fara & fau  age  Feafafas
fearferat (conditions) 9% ferame EﬁTﬁW -

1, wifarifera e 6 guferfy
2, WA ael @A U G AIE

3, gAieR wat & i ¥ afir s
BT

sudeh # & w-+ft fesfa wet 2 /2 7
(a) +ad 1
(b) FaT 2
(c) 13K 2
d 23R 3

142. Frafafed & @ -8 /s e

YIS 1 wrfad aRa € 2
1. FRErifere =t

2. T&ed

3. ¥R Sl gRT a9

4. 9o

A o T e v e gf

(a) Fad 1 3k 4
(b) ¥ 2 3k 3
(¢) Fad 1,2 sk 3
d 1,23 3k 4

;
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139. Consider the followip,
reference to structyr
atmosphere :

5 s
£ Statementsg with

¢ of the Earth’g

1. Thickness of
e SS of the \I‘Op(\.\‘plu‘l Y 18
greatest at the equatoy K

o

1]( < ‘ < ‘
I" A1 tt‘“ 7(['\‘1"( Ot “l(‘ ll‘O [
‘ AUSC 18 19\}10\\ .'lhO\ ] h > DOI(
Y (§ S h { [§ t C S

S

The temper

A perature
s I troposphere
ases at the rate of 1°F for
every 165 m of height

.\\ hich of the statements given above
is/are correct ?

(a) 1only

(b) 1and 2 only
(¢) 2and 3 only
(d 1,2and3

140. Which of the following are the factors

that cause variation in the amount of
insolation on the Earth 2

1. Rotation of the earth on its axis

2. Length of the day

3. Distribution of land and water on

the earth

Select the answer using the code given

below :

(a) 1only

(b) 1and?2 only
(c) 2and3 only

(d) 1,2and3
45

k"‘\,\ “‘i‘b‘:
- b %
3 H”w’ “ay
. L .
he "y ®
141. Consider the following conditions
favourable for the formation and

intensification of Tropical Storms :
1. Presence of the Coriolis force

2. Upper divergence above the sea

level system

3. High vanations in the vertical

wind speed

Which of the conditions given above
is/are correct 7

(a) 1only
(b) 2only
(c) land?2

(d) 2and3

#2. Which of the following factors influ-
nce the ocean currents ?

Coriolis force

2. Gravity

3. Heating by solar energy
4. Wind

Select the answer using the code given
below :

(a) land4 only
(b) 2and 3 only
(c) 1,2 and 3 only

@ 123 and 4

C — TODC-T-GAT
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146. W # Aewrme gz fFeafafaa 7 &

143. fFafafea F @ afa-dt o weamdia

uRT/oRe R /% 7 foperey oy & 7
1. AATERT YT |, dfearan
2. ATEEIHAA

2. AR 4RI

3, Hiehe
3. BleHhaE YT
. 4, qreTe
4. vivesdt siieforaw amq |
A fou w10 e 1 wEAN 97 I 30
D O A~
"“mm@?ﬂmaﬁwﬁr;
(a) Had 1
a) ¥aa |
- (b) 13K 2
(b) 13K 2 Ty
(c) 334 () s
(d) < 4 : . o
147. 9RT § IS S ATl FEAT & GeH A
144. 359 T5T FAY: fohaw = o sk m ¥ § Ha-a1/Fa-8 F99
?

HRAE TG § G919 KA1 © 7
1. TSR Xt (Sreqf) 3R Smelt el

(a) FHY: 2 QY 3R 6 ARAE TH T et A R
(b) FHEST: 2 39 HR 7 ARAE T Suell el gar A % foru suges
(c) FA: 3 29 ¥R 7 ARAEG T &
2. SR T Wt ST
(d) FAS: 3 39 AR 6 AR [T WﬁTﬁﬁgwﬁ
& AT
145, Frafian # & -1, 7707 % R B
@ 52 3¢ 74 9fdT (northernmost %Wﬁﬂ?%ﬁﬁ%mﬁﬁ%
river basin) & 7
. A 13 T e 1 W AR IR g
(a) =&
(a) wad 1
b N
) M (b) Fae 2
(c) e © 13K 22t
(d) dTet @ T LTS 2

TODC-T-GAT - C o =

) -
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g or L N 3 o8
& "*& " ™ 1‘""1-1-.. k“".. ' , -
“ - v Wone ‘ o, ““ \ €,
— bt S, 2 "R
™., - "’L‘ . %,
he «1“‘~ ’-... f,"
e g by
L '-“, "\
/7Wh
~Which of the f
0“0W|
ng g
ocean current(s) ? 8 1s/are warm : ‘
. 146, Laterite soil in India is rich in which

1. Alaska Current

2. Agulhas Current

(9%}

. Falkland Current
4. West Australian Current

Select the ans :
SWer using th .
ec
below : ode given

(a) 1only
(b) land2
and 4

State of Assam shares borders with how
many other countries and Indian states
respectively ?

4) 2 countries and 6 Indian states
respectively

(b) 2 countries and 7 Indian states
respectively

(c) 3 countries and 7 Indian states
respectively

(d) 3 countries and 6 Indian states

respectively

wing is the

145. Which one of the follo
f the Deccan

northernmost river basin O
Plateau ?

(a) Chambal
(b) Mahi
(c) Narmada

(d) Tapti
47

of the following 7

1. Calcium
2. Nitrogen
3. Phosphate
4. Potash

Select the answer using the code given
below :

(a) 1only
(b) 1and2
(c) 3and 4
(d) 4only
ich of the following statements

with reference to crops cultivated in
India is/are correct ?

1. Bajra grows well in sandy and
shallow black soils, whereas red
and shallow black soil is suited for
Ragi

2. Bajra is predominantly grown in
states like Rajasthan, Uttar Pradesh
and Maharashtra, while Ragi 18
mainly cultivated in Karnataka,
Tamil Nadu and Himachal Pradesh

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
Y Both 1 and 2

(d) Neither 1 nor 2

C - TODC-T-GAT
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148. g 1 A g 1 & gafea fifg sk
Tl & R Ry 1w e & wAT aW
SR g :

gt 1 g I
() (@farsr)

A. TR 1. AT

B. stemETe 2. A9 (HTZHT)

C. %ﬁmg'{ 3_3ﬁ'§_m
D. SRl (SwRY) 4. SieaTse

(a) 3 1
) 3 4 1
©) "2: 1 4

("’“"NNU

d 2 4 1

149. frfafga # & @H-a1 59 NTPC
& fasrad faga wo9 &1 ua
TE 27

150.

(a) 71"1{7'1

(b) T
(c) HERIg
(d) ST Teu

AR # a9 ‘\a?,]\fi H.'jﬂ\- AR IS

saferfs @ wafad w1 & H@eH H
frafafaa gmi w) fomm it
arg faga aa7 7T H fega
L Uqh! ~ SR WV
I et —  FAlesh

. fosmarer - AT
IV a9y — NERE]
Wﬁﬁ%ﬂ/ﬁﬁﬁwgﬁ
gfer /% 2

(a) 1

(b)-2

(c) 3

(d) 4
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148. Match List I with List 11 aid 5t
and select the

149. Which one among

answe US\HN thk kﬂdk‘ 21V l l
r £ cn ClOw “
Y -] ) 1€

Lists :
List 1
(City) i
. (Mineral)
A. Bewar
ewar 1. Manganese
B. Balaghat 2. Mic
AN a
C. Bilaspur 3. Iron-or
3. -ore
D. Ballary 4. Bauxite
Code :

@ 3 1 - ]
® 3 4 1 2
() 2 1 4 3

@ 2 4 1 3

the following is
state from ‘the

NOT a beneficiary
Plant of the

Vindhyachal ~Power
NTPC ?

(a) Gujarat
(b)y Goa
(c) Maharashtra

(d) Uttar Pradesh

150. Consider the following pairs with

reference to Thermal Power Plants and
their location in respective states 11
India :

Thermal Power Located in

Plant State

Jttar Pradesh

1. Panki

1. Parli —/ Karnataka
[ Vijayawada / — Telangana
IV. Vanakbari —  Gujarat

How many of the pairs given above

is/are correctly matched ?
(@ 1
(b) 2
(c) 3
@ 4
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